YT1Bepxaato: racnm
OnpeKTop WKobI:
2a [N 4a | No [ 46 | Ne [ 48 | Ne | 4r | Ne | 5a Ne[ 56 |
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o (30 OKp WH a3 [45/8 |TexH mart T Kp 22|pyc
waxm ¢ My3 ¢-pa [m3an |OPKC MHP ¢ T 27|TexH
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CdHME YPOKOB 1 CMIEHDI 2016 - 2017 y4yebHbiW rop, 1 Tpumectp
Ne| 58 Ne[ 5r Ne[ 7a Ne| 76 Ne[ 78 Ne[ 7r Ne
M 3an|pyc 27|VH A3 41/8|d-pa 6 3an|u3o 11|mat 24 -
44|nct 9|pyc 27|vct 39|d-pa 6 3an|uH a3 | 41/12|mat 24
41/8|nnT Kp 27|vct 9lreo 29|mart 24|d-pa | 6 3an|ucr 39
9|6mo 37|t Kp 23|maTt 24|uH a3 | 10/12|pyc 22|reo 29
29|nut 31|mat 25|pyc 27|pyc 23|nut 38|un 53| 10/12
31|mat 25|un a3 41 |nut 27|nut 23|reo 29
41
maT 26|nnT 21|pus3 33|6uo 37[vict 39|texH | 40/m
22|d-pa [m3an|mso 11|pyc 27|pu3 33|pyc 31|texH | 40/m
44|texH | 40/m|d-pa M 3an|mat 24|pyc 22|dus3 33|pyc 25
31ltexH | 40/m|mat 26|6wno 37|mat 24|ns0 11|puns 33
40/m|nn a3 [13/12|pyc 31|u30 11|pyc 22|mat 24|nut 38
40/m|pyc 31 uH a3 | 41/19|uct 3906wy, 9|mart 24
37 6uo 37 6uo ¢ 37 pyc ¢ 39
M 3a1]obLL 9[uH a3 41/8|maT 24]my3 15[un/- 53[O6K 39
44]reo 29|pyc 21|OBXK 39|mat 24|mys3 15|uH 53| 10/12
41/8|pyc 21|obuy, 9|d-pa 6 3an|nH a3 | 10/12|mat 24 my3 15
21|u30 11|mar 26|uct 39|p-pa 6 3an|uH a3 | 41/12|mat 24
21|mart 26]|reo 29]|6uo 37]10BXK 39|d-pa | m 3an|pyc 22
11 6uo 37|vH a3 [ 41/19]reo 29|06} 39|-pa | m3an
21|d-pa |[m 3an|mar 26|pus3 33|uct 39|pyc 31|obuw, 9
9|pyc 21|d-pa M 3an|pyc 27|pu3 33|mart 24|vcT 39
44\ nunt 31juct olnut 27|vH a3 | 10/12]|uct 39|¢du3 33
9|mat 25|pyc 31|uHdp | 52/53|mat 24|du3 33|uH a3| 10/12
41/8|unct C] 31|mart 24]ucT Kp 39|pyc 25|uHd [ 52/53
M 3an|uH a3 [13/12|uH a3 41/8 NHO 52/53|aut 32|mart 24
31 pycoh 31 pycop 31
21| - - MH 83 | 41/19]obwy 9|dp-pa | m3an| -
21 - - pyc 27]|6uo 37ucT Kp 39|¢d-pa | m3an
44|pyc 33|rexH 40/m|d-pa 6 3an|pyc 22|mart 24]uncT Kq 39
T 33|texH 40/m]nct Kp 39|p-pa 6 3an|6buo 37|mart 24
mart 26|pyc 33|mat 24| nut 23|uH a3 | 41/12]reo 29
maT 26 maT 24]-/vHd 52|6uo 37
37]pycC 2T - MYy3 TI5[TEXH qJ0/M] - pycC Z3
I5|vH a3 [13/1Z[pyc ZI|reo Z9[Texn ao/m[ - AT 23
Z1|®P-pa [ m 3anjmy3 15|TexH 40/m|reo 29]10mno S/]1pyc 2>
ZI[wy3 T5[P-pa M 3a/|TexH Z0/M reo Z9[o1io 37
AT ZTlobw 33 TEXH | 4U/M[P-pa | M 3an
TEeXH 40/ mun3o 11




YTBepKaato: PaCnNCaHU¢

OunpeKTop wKonbl:

8a | No[ 86| Neof 88| Nof 8r | Nef 9a [ Ne [ 96 | Ne | 9r | Ne
_ pm 31[reo 29[6vo 37 - UcT 38|und |52/53 |mat 25]
% NCK 11|xum 31|pyc 21|6wo 37|¢us3 32|uHd [52/53 |uct 38
EJ[ pyc 23|texH | 40/m|mat 25[xum 31|mH a3 [10/13]|uck 11|{pus3 32
% nH a3 | 13/8|texH | 40/m|xum 31|mar 25|¢p-pa | 6 3an|Ppus 32|uH a3 [41/19
= [p-pa m3an|un as| 13/8[rexn | 40/m|pyc 22|6uo 37|mart 24{vHd [52/53
6uo 37|pyc 22|texH | 40/m|d-pa m 3an|mat 24|vH a3| 13/12|und [52/53
mam ¢ 24 pycao 27 obw 15
maTt 53[mat 25[pyc 31[uck 11[maT 24]uct olnut 27|
= [wH a3 | 13/8]uct 9|mat 25|dus 32|reo 29|mat 24|d-pa [63an
§ du3 32|60 37|t 31|OBXK 39|uct 9lreo 29|nck 11
o o6y, 9|du3 32|uH a3 [13/19]|d-pa m 3an|pyc 23|anT 27|reo 29
pyc 23|0BXK 39|d-pa |6 3an|obuy 9luHd [52/53|6m10 37|mat 26
T 23|d-pa | m 3an|pu3 32|vH a3| 45/8|uHd [52/53|d-pa | 6 3an|buo 37
obw ¢ 39 mam ¢ 24 pycao 27
reo 29]xum 31[pyc 22[und/] S2[auT 23]pyc 27[TTIK 11
maT 53|uH a3 13/8|xum 31|mart 25|6uo 37|nut 27|mart 26
< |OBX 39]|6uo 37|mart 25|texH [40/m|xnm 31juct 32|pyc 27
é) T 23|reo K 25|uHd [52/53|texH [40/m|reo Kp|  29|xum 31|auT 27
TexH [40/m|unHd |52/53|uH a3 [13/19]|nct 32|d-pa | 6 3an|maT 24|xum 31
TexH |[40/m|mat 25|$-pa |6 3an|uH a3| 45/8|mat 24|uH a3| 13/12|uct 32
pyc ¢ 21 -/VIH(I) 52 pyc ¢ 23 obw ¢ 39 mam ¢ 25
uad/-| 53 - maT 22[P-pa [6 3an[un a3 [10/13]mat 24reo kp] 29
= |¢-pa [63anfuct 11lnct 38|mart 22|pus3 32|reo K{ 29|mart 25
g maT 53|maTt 23|6wno 37| pyc 22|mat 24|d-pa |6 3an [Ppu3 32
F [pyc 23|d-pa | m 3an|obuy, 11[nut 22|d-pa | 6 3an|6uo 37|vn a3 [41/19
reo 29|pyc 22|reo kg 27|uct 11|pyc 23|du3 32|6vo0 37
ncT 11|anT 22|0BXK 39(reo 29|nunT 23|6uo0 37|d-pa [63an
obuy, 11
XUM 31[mart 32[reo 29[6uo 37[mart 24 - -
mat 33|mat 32|nck 11|xum 31|reo 29|mat 24|mat 26
% yepy 11|uH 83| 13/8|dus 32|mat 26|uct 9lreo 29|xmum 31
E nH a3 | 13/8]reo 29|uepy 11|pu3 32|aut 23|uct 9|uH a3 [41/19
= YZE) 32|uepu 11|dp-pa [m 3an|uH a3| 45/8|uH a3 [10/13|xum 31|pyc 27
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€ YPOKOB 1 CMEHbl 2016 - 2017 yuyebHblii ropg, 1 TpumecTtp
9n | Ne [10adp| Ne [10ay| Ne | 106 | Ne [11ad 11ay| Ne | 116 [Ne
Pu3 32|mat 22|du3 33|06 3%\ maman| 26| - pyc 23
mat 25|uH a3 | 10/8|uH a3 | 13/8|uH a3 | 10/13|mart 26| - T 23
6uo 37\nmt 21|anT 21|mart 38|du3 33|mart 26|mat 26
NCK 11|OBXK 39|0B6XK 39|pyc 21|dus 33|mar 26|mart 26
nH a3 |41/19 |b-pa | 6 3an|d-pa | 6 3an|aut 21|mart 26|pun3 33|pu3 33
T 21|puns3 33|mart 38|dp-pa | 6 3an|mar 26|MXK 11|MXK 11
pyc ¢ 21 ¢u3 an 33 |pu3s an 33 |u3 an 3316uo 37 6uo 37
¢-pa |63an [mar 38| - du3 32|reo 29|reo 29]pyc 23
pyc 21|6vo 37]6vo 37|uct 38|0OBbXK 39|0BbXK 39|nuT 23
nHd |52/53 |pyc 21|pyc 21|vmct 38|aunt 23|ant 23|d-pa |6 3an
nHd | 52/53|aut 21|anT 21|mart 25|p-pa |6 3an|d-pa |6 3a406u 38
reo 29|pun3 33|mart 25|pyc 21|uH a3 [10/41|uH a3 [41/8|uH a3 | 45/8
maT 26|pu3 33 nuT 21|obu 38lobu 38|reo 29
mam ¢ 29 mam an 25 Imam an 25 |pyc an 21 ¢pus an Aum an 23
mat 26|dp-pa | 6 3an|dp-pa | 6 3an|mar 25 - [ZE 33|pus3 33
obuy, 32|pus3 33|MXK 11|¢-pa | 6 3an|pyc 23|pyc 23|uct 38
reo Kp 29|pus3 33|mart 26|MXK 11jaumT 23|nut 23|uct 38
nCT 32|un a3z | 10/8|uH a3 | 13/8|uH a3 | 10/13|uct 38|ucr 38|6u1o 37
TMK 11|mat 25|dus 33|06, 38|uH a3 [10/41|uH a3 [41/8|uH a3 [45/8
XUM 31|umct 38|uct 38 du3 33|pycan 23 |pyc an 23
6uo/uH A3 an 6uo/uH A3 3n 6uo/uH A3 an ucm/uHg 38 ucm an 38 ucm an 38
bno 37 - mat 25|du3 32| - - pycC 23
uH a3 |41/19 [uH a3 | 10/8| nH a3| 13/8|uH a3 | 10/13|maT 26| - T 23
T 21|mat 25]TexH 40|reo 29|mat 26] - obuy, 38
[ZE 32|reo 29]reo 29|pyc 21|mat 26|TexH 40]o6w 38
¢-pa [63an |obuy 38|obwuy, 38|auT 21|pu3 33|mart 26|mart 26
maT 25|\nut 21|ant 21|o6uy, 38|¢du3 33|mart 26|mart 26
pyc an 21 |pyc an 21 mam an 25 pycan 23 mam an 26 mam an 26
maT 26| - - ncT 38|amt |23 ot |23 |P-pa |6 3an
ncT 9|mart 251 - ncT 38|p-pa |63an|dp-pa |63ajamuTKE 23
WH a3 |41/19 [mat 25| - T Kp 21T Kp 23|t Kp| 23|ucTt 38
XUM 31|aunT Kp 21lamt k|  21]mar 25|uud  [52/53|uHd  [52/5|ucT 38
pyc 21|dp-pa | 6 3an|dp-pa | 6 3an|bmo 37]o6uy, 38|obwy, 38|uHdp |52/53
T 21|uct 38|uct 38|d-pa | 6 3an|unH a3 [10/41|uH a3 [41/8|uH a3 |45/8
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reo Z29]xum 3n 31 |xum an 31 |xum an 31
obw, ¢ 9




YrBepxaato: PacnucaHune ypokoB 2 cmeH

[npeKTop WKonbl:

2a | N | 26 | Ne [ 2B | Ne [ 2r | Ne | 3a Ne[ 36 | No
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o | 4 |texn OKp AT AnT ANT maT
5 [YCN ¢ MHP ¢ nHd ¢ TeXH
1 |vt nH a3 [10/20 |pyc OKp pyc pyc
2 |[d-pa  [63an |pyc mat ¢-pa [m 3an|mar maT
S| 3 |pyc T d-pa |63an [pyc TEXH OKp
Lm% 4 |oKp TeXH OKp mat YOK ¢ MHO ¢
5 |YOK ¢ YOK ¢ YIK ¢
1 |pyc pyc pyc nH a3(10/48|nnt pyc
2 [mat ¢-pa [m3an |mar pyc maT maT
% 3 |u30 mat b-pa [m3an |mat ¢-pa 6 3an|ant
E 4 |d-pa  |63an |auT T T pyc TeXH
5Ky waxm ¢ YCn ¢ Wwaxm ¢
1 |mt ¢-pa 141pyc pyc OKp pyc
2 lnuas [|41/8 |pyc mat ¢-pa 14|pyc WH a3 [45/19
% 3 |pyc maT nH a3 [10/19 [auT N30 d-pa |[m3an
E 4 |mat OKp T n30 b-pa 6 3an|aut
= KNy OKp
6
1 [okp 2 OKp OKp T My3
2 |aut mat n30 My3 TeXH n30
E 3 |my3 My3 Mmy3 TeXH My3 KN Yac
% 4 |waxm ¢ waxm ¢ NH A3 45/12
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ibl 2016 - 2017 yuebHbIN ropa, 1 TpumecTp
3B No 3r | No 6a Ne| 66 Ne] 68 Ne[ 6r Ne
maTt pyc O|maTt 39 ncT 9
¢-pa |63an |mar 1|pyc 22|uct 9|uH a3 [10/19|maTt 26
pyc d-pa [63an | 2|aut 22|maTt 26|pyc 27|vH a3 10/19
T TEXH 3|uct 9|pyc 22|mart 26| d-pa 6 3an
buc ¢ o) 4|P-pa 6 3an|aut 22|vct 9

5 22|¢d-pa 6 3an|obuy, 9

6 ¢-pa |[63an

0 obuy 25 pyC 27 pyc 22
T OKp 1]|pyc 22|maTt 26|uct 9|lut 23
pyc pyc 2|vH a3 41/12]uct Kp Cl 23|mat 26
YEL ¢-pa |(63an | 3|laut 22|vH a3 41/12|mat 26|ucT Kp 9
¢-pa [63an |mat 4|maTt 26|pyc 22|UCT Kp 9lpyc 23
N30 N30 5lucT Kp 9lnut 22|d-pa | 6 3an

6 ¢-pa 6 3an

0 uct 9 Mar 26[pyc 27|pyc 22|
pyc T 1|mat 26lun a3 | 41/12]reo 29|texH 40/m
nH a3 |45/19 |pyc 2lvH a3 |41/12 |reo 29| nut 22|TexH 40/m
OKp nH a3 (45/19 | 3|reo 29]texH 40/m|p-pa | 6 3an|mat 26
My3 TeXH 4lpyc 22|TexH 40/m|mat 26|¢-pa 6 3an
KNy [0} 5|¢-pa 6 3an|pyc 22

6

O|mat 31 uct 9 pyc 27 buo 37
pyc OKp 1|texH 40/m[buno 37[mat 31[vH a3 10/19
maT ¢-pa [63an | 2|rexH 40/m|pyc 22|nH 53 [10/19]|mat 26
vt pyc 3lpyc 22|maTt 26|TexH 40/m|pyc 21
TEeXH maT 4|6uo 37]|d-pa 6 3an|TexH 40/m|nnt 22
tOH N & 5|¢d-pa 6 3an 6uo 37| pyc 22

6

0 pyc 22 maT 39 reo 29
maTt T 1jm3o0 11]pyc 22|pyc 27|maTt 26
pyc M 3an |pyc 2|uH a3 41/12|mat 26|un30 11|d-pa 6 3an
d-pa maT 3|my3 31|uH a3 | 41/12|uH a3 [10/19]|m30 11
OKp [0) 4innt 22|ns0 11imy3 31|uH a3 10/19
LaxXm 5 T 22 My3 31

6 My3 31
NHD mH a3 [45/19 1 1 - - - OBX 39
uH a3 |45/19 |aut 2 - - - ncT 9
TeXH Mmy3 3 - - - obuy, 9

4lmaTt 26|06y, 9]0BXK 39| pyc 23

5]pyc 22|OBXK 39|pyc 27|\ nvut 21

6|ObXK 39]pyc 22|\nnt 21




1 knaccebl, 1 cmeHa

la | Noe | 16 | Ne | 1s8 | Ne | Ir | Ne | 1p Ne
1lokp T T T T
2|¢-pa 14]pyc pyc pyc pyc
3|laut maTt MmaT MmaT ¢-pa 14
4|pyc TeXH b-pa 14]my3 OKp
5 d-pa 14
1lanT OKp nnT nnT mat
2|pyc T pyc pyc mt
3|mar pyc mat mat pyc
4luszo My3 N30 OKp TexH
5 d-pa 14
1lant mart pyc nut maT
2|pyc ¢-pa 14]pyc pyc vt
3ImT T ¢-pa 14|mat pyc
4imy3 pyc T ¢-pa 141my3
5|¢-pa 14
1laut T T T MaT
2lpyc pyc pyc d-pa 14\ nut
3|mat maTt maT pyc ¢-pa 14
4]TexH n30 TexH TexH pyc
5|kny n3o
1lokp OKp pyc OKp mat
2|mart mat mat pyc ¢-pa 14
3|p-pa 14|pyc OKp MmaT pyc
4|pyc ¢-pa 14my3 n3o OKp
5 ¢-pa 14




